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MISSION SSC -2024

What is the unit digit of /T 3BT 37 KT §?
1A5 + 2A5 + 3A5 + ... + 20757
(a)0(b)5(c)2(d) 4




MISSION SSC -2024

The ngmber of factors of 3600 is
TUFES] &) e §?

(a) 45 (b) 44 (c) 43 (d) 42




MISSION SSC -2024 IT¥- =9 -

Find the number of prime factors | in the product (30)A5 x (24)"5.
3UTST TUMhd D ST T HY 2
(a) 35 (b) 30 (c) 45 (d) 10




MISSION SSC -2024

Find the unit place digit in the given expression
[3U T ST H Iohlg [ 3 J1d Difolg
(158)7144 —(116)7123 — (117)7510 + (213)725
(a) 1 (b) 5 (c) 6 (d) none




MISSION SSC -2024

] T T S

Find the number of 2’s in/ H s
240!,
(a) 31 (b) 33 (c) 35 (d) none




MISSION SSC -2024 I = -~

If x is the remainder when 3261284 is divided by 5 and y is the remainder
when 496 is divided by 6, then what is the values of (2x y)?

gfe 3161284 1 5 J fGUTSIT P TR x AVPd & 3R 496 B 6 T
CHIIEE] ﬁwylﬁw%a’(zx—y)comm T 87

a)-2 b)2 c)3 d)none




MISSION SSC -2024 I = -~

Which is the largest six digit number, which when divided by 12, 15, 20, 24
and 30, leaves the remainder 8, 11, 16, 20 and 26 respectively.

T8 P! DI I Fal T8I S Il g, /R 12, 15, 20, 24 3R 30T
RUTRIG $ TR HHT: 8, 11, 16, 20 3R 26 VY ST |

(a) 999956 (b) 999982 (c) 999960 (d) 999964




MISSION SSC -2024 IT¥- =9 -

If the seven digit number 3x6349y is divisible by 88, then what will be the
value of (2?< J_r\.3y)? .

gfe TId 3ih! Bl TBT 3x6349y 88 T fAHTI B, Al (2x + 3y) BT A I
él‘ll?

(@) 32 (b) 30 (c) 35 (d) 28




MISSION SSC -2024 I = -~

If the 10-digit number 8 97359y 7x2isdivisible by 72, then what is the
value of (3x —y), for the possible greatest value of y?

I 10 P P TGBM 897359y 7x 2, 72 T AU B, aF y & G
3fIHdH AT & T (3x — y) BT AT T 37

(a)3(b)8(c)7(d)5




MISSION SSC -2024 I = -~

In a class, the students donated Rs. 3481 in relief fund. Every student donated

the amount equal to number of students. The number of students in the class
is ?

Uch &l H, DA 1 %. 3481 b1 T [GATIGd DIV H YD B Bl Pl
T & SRISR MR & BT | Deft H faenfdal a1 e g2

(a) 61 (b) 51 (c) 49 (d) 59




MISSION SSC -2024 I¥ =~

Let x be the least number which when divided by 15, 18, 20 and 27, the
remainder in each case is 10 and x is a multiple of 31. What least number

should be added to x to make it a perfect square?

J—II'-IIxOIG oY DI I § o/ 15, 18, 20 3R 27 T faUTioId 31 IR
U R & ATHd 10 BT & 3R x 31 HT 0 21 38 JOT I a1 &
» 1%111 o DI T gAdH W el S amfed?

(@) 39 (b) 37 (c) 43 (d) 36




MISSION SSC -2024 ¥, a= - (1

A man has some hens and cows. If the number of heads :
number of feet = 12 : 35, find out the number of hens, if the
number of heads alone is 48.

T STIHT & IT T AT S AT g1 Tfe /T & g&am: 4
HEAT = 12: 35, AT YHIAT T H&IAT ATT F<, AT bl T8 T &I
48 3 (1) 28

(2) 26

(3) 24

(4) 22




MISSION SSC -2024 I %99 - (1

The length of a road is one kilometer. The number of
plants required for plantation at a gap of 20 meters in both
sides of the road is:

TF S5 il 99T, T it g1 T8% & Al 171 9< 20
HieT it T I FETUIT % ForT sraers e it §&T &
(1) 102
(2) 100
(3) 51
(4) 50




MISSION SSC -2024 I ¥&s-a= - (1)

Find the number of prime factors in the product of 252 x =
107 x 147
2512 x 107 x 147 AT YOI WS HT HEAT 71T H Y

(1) 50
(2) 52
(3) 51
(4) 54




MISSION SSC -2024 I %99 - (1

A certain number when successively divided by 8 and 11

leaves remainder 3 and 7 respectively. Find the
remainder if the same number is divided by 88.

T fAfSra 9&T 99 #0® €9 9 8 3K 11 ¥ fawTiera gidt 8,
FH: 3 T 7 AW T SATAT 1 AT Fl ATT L Ii< THT G&AT

88 ¥ fAwTINT &

(1) 57
(2) 51
(3) 59
(4) 61




MISSION SSC -2024 I ¥&s-a= - (1)

A certain number when successively divided by 3, 4 and 8 leaves =
remainder 1, 2, 3 respectively. Find the remainders when the
same number is divided by reversing the divisors.

T fAfera 9T i w% €7 9 3, 4 X 8 ¥ fawriora fawaT smar &,
FH: 1, 2, 3 AV I TF gl G&AT F fAATSRI l IA< F fAwTioa
ER NI EERL ISR




MISSION SSC -2024 I ¥ a9 P

Find the least number of five digit which is divisible
by 666.

qI 3(ehl i T SISt G&AT AT ST ST 666 4
ERISR ]

(1) 10656
(2) 10665
(3) 10566
(4) 15066




MISSION SSC -2024




MISSION SSC-2024 %, T= - (1)

Which of the following fraction is the smallest?

fRaferfera § a 1 91 sty 999 Yerg?
77 45

69’57

(1) 7/6
(2) 7/9
(3) 4/5
(4) 5/7




MISSION SSC -2024 I ¥ a9 P

The smallest possible three-place decimal is :

Ty BreT G -1 I

(1) 0.012
(2) 0.123
(3) 0.111
(4) None of these




MISSION SSC -2024 I ¥ a9 P

hich of the following is the smallest fraction?

fRaferfera & § 9 a1 g9 ST Fa g?
8 7 11 14
25’23’2353
(1) 8/25
(2) 7/23
(3) 11/23

(4) 14/53




MISSION SSC -2024 I¥s-a9 -~ (1)
The least number among g, \/% , 0.45 and (0.8)? is-

ﬁmﬁﬁﬁwwwg,\/% ,0.45 ,(0.8)2 _

(1) 4/9
(2) J
(3) 0.45

(4) (0.8)2




MISSION SSC -2024 I ¥&s-a= - (1)

A number when divided by 899 gives a remainder 63. If the
same number is divided by 29, the remainder will be:

899 ¥ fAWTiora g =X U H&IT AW 63 T 1 i< THTT T&IAT i
29 ¥ fasTiora fohaT STTaT g, av QO & dT g

(1) 10
(2) 5
(3) 4
(4) 2




MISSION SSC -2024 I¥s-a9 -~ (1)

The smallest number to be added to 1000, so that 45 divides
the sum exactly, is :

1000 ¥ STIE ST ATAT TaH Pt G&IqT, qrfd 0T 45 F oo
RS g, a8 &

(1) 35

(2) 80
(3) 20
(4) 10




MISSION SSC -2024 I ¥&s-a= - (1)

The product of two numbers is 9375 and the quotient,
when the larger one is divided by the smaller, is 15. The
sum of the numbers is:

T AT T OFRA 9375 g T AR, T ST R Sl o
fasTiora R stTaT 8, v 15. 9 31 7T I & (1) 395

(2) 380
(3) 400
(4) 425




MISSION SSC -2024 I¥s-a9 -~ (1)

The remainder when 32 is divided by 5 is —

qy 321 1 5 F Ao FA R AT § -

M1
(2) 2
(3) 3
(4) 4




MISSION SSC -2024 I ¥ a9 P

96-11 when divided by 8 would leave a
remainder of :

96-11 ST« 8 ¥ fAwTiora fohaT StTaT g, avr aw:




MISSION SSC -2024

998 : _
999 ;X 999is equal to :

(2) 9998
(3) 9899
(4) 9999




MISSION SSC -2024

(27142724273+274) is divisible by-

(2) 10
(3) 11
(4) 13




MISSION SSC -2024 I3~

If 5432*3 is divisible by 9 then the digit in place of * is :
i< 5432 * 3 9 & FAWTST g AT * &F T UL 3(F &




MISSION SSC -2024 I ¥&s-a= - (1)

If 78 * 3945 is divisible by 11, where * is a digit then * is equal
i< 78 * 3945 11 ¥ FAWTST &, T * T i g Al * T g

(2)0
(3) 3
(4) 5




MISSION SSC -2024

461 + 452 +463 +4564 g divisible by -

(2) 10
(3) 11
(4) 13




MISSION SSC -2024 ¥, a= - (1)

Find unit place of the number (2153)*67 —
THTS T 37 1T < (2153)767-

(1) 3
(2) 9
(3) 7
CIRE




MISSION SSC -2024 I ¥ a9 P

Find unit place of the number (264)*103
+(264)*105-
THTS T 3F AT e (264)AM03 +(264)M05

(1)8
(2) S
(3)7
(4) 1




